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Anas uses a horizontal force of 20N to push a 4dkg box along the a
horizontal surface for 3 m. then lifis the box up to a shelf 1 m high.
?What is the total work done on the box

d.aLm‘_rnsl-mul::. {4[{g]4_1.1_£.'.5_,_|.._.=5__-|_d (ZO0N) \a I_.n.,q.-._-.ul.:._,a.__:.m'-‘g._-._-.....;.m
ULJJM14E\M\L4 (lm]&thulﬂ'L—“_}h-J1.jJ—h—=Jl{:J~FH{3m:I

Lﬂq}-du—:ﬂjl
SRR A ety Suld e it s Sl
Tou may wse any of the given constants and eguations where needed:
g = —9 8 m/s* F=E Fp = pFy
— ™ .Fl
W = F.Ar = Froos& ALl = gl K=

dbuipall Sscalaill Tl ySall

PHY. 6 2.03.002 o

r-.----‘
—
]
Vel
bssssssssnsd

J 39

J 157
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In which of the following cases the total work done on a car equals
?zero

N jios (g skasy 8 s e el SN Joll () 5 0 Vel e g 3

AN iy )h Sy SN e iy Lap
You may wse any of the given constants and equations where nesded:

g=—9.8m/s P=y Fi = nFy
— Pa
W = F.Ar = Frcos@ Al = mgh e
Im

W, = ~mgh K+U=Kg+ U, AP = J = FAt

dhaipall droalaill Loyl
PHY.6.2.03.0020
The car moves with a constant velocity a

The car moves with a decreasing velocity b
dundlise deyun 8)luwdl s

The car moves in an opposite direction to the force|-c
898l) LuSlaall olosdl 8 &)Ll oS

The car moves with a constant acceleration d
B sy 8l | Iy
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A 0.5kg red ball moving in a straight line at a velocity of 1.6
m/s collides elastically with a 0.3 kg blue ball at rest. What 1s the speed
Tof blue ball after collision

g Ui e Ladliad aaba s | 6m/s e s aiiise bad 3 5235 (0,5kg Al ¢l jaa 5 S
Tadlalill 2ay o8, 5 8 SAllde po oo Lo Sl dlla 8 ().3kg LeAlS o855 S

dbuipal| dreudaill Sl paall

PHY.6.1.02.049 o
PHY.6.1.02.050 o

'a
m/s 2.0 i
b
m/s 0.5
«E
m/s 2.7
A\~ 4 4 d
m's 1.2
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A wagon is pulled with a rope that makes an angle of 30° to the
horizontal as shown in the figure. The tension in the rope is 50.0N.
What is the work done by the force on the wagon if it moves 100 m on
?the horizontal surface

ot 2 e JSEN 3 minge 5a LS Y1 ma (30°) Al pbay Jim iy 2 o o
o (100m) 280aa (€3 3yl e 50 alis 53 Jadd Lo (50.0N) il
¢ sy hacdl

Q)
<&
aasipall Gaslaill Slzyhall
PHY 6.2.03.002 o
""""""""""""""""""""""""""""""""""""""""
J 3304 E
b
J 5000
o =
J 2500
.d
J7775
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If positive work is being done on an object, which one of the following
?statements 1s true

Chaaa (53S0 A0EN G ladl 6 dlia ga aniadl o gdaadl ol (1S 13
dbhuipall dsaulaill Cils phall

PHY.6.2.03.002 o

Energy is being transferred to the object :.a

aseall ) A8 i3

[]

Energy 1s being transferred from the object b
paaad! e 8] | Jaii

The object is moving in the positive x direction .c
el X paa slall A anall I jals

The object 1s moving opposite to the force .d

Eﬂlnbﬂl@@ilﬂﬂ
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When a mass m 1s attached to a spring with a constant k hanging
vertically, the spring is extended for 12 ¢m. If the same mass is
attached to another spring with a constant 3k hanging vertically, for
7how much length Ax it would be extended

ikt 4 U pae Slea k 4Bl el i 31 jall il 6 m ALS Gl o Lasie
A3l G gae Gl jal el o pall 8 g AN Salad 2313, 120m g
¢ Ax Adlliul e (S aSi 03Kk

A Al f SBally S e iy e el
You may use any of the given constants and equations where nesded:
g=-98m/s* p=E Fp= pFy
AE
= P!
W = F.Ar = Frcos8 AU = mgh K=—
dhuijall daulsill Sl paall
PHY.6.203.004 o
PHY.6.203.005 ©
i S S S .. -
I N
i
; cm 4 :
1 n
I C
I )
besssss s === L L L L L L L L - - 4
.b
cm 36
.C
cm 7
d
cm 2
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A car of mass 1000 kg is travelling at 20 m/s. If a braking force of
5000N was applied to the car, what 1s the distance that the car moves
Tuntil it stops

e el all (g 8 8 sk o513 (20m/5) e o & %5 (1000keg) L€ 3
¢l g0 ) A8l 1S el Al Al L dlgdldyy 3 Ll e (5000N)

A A SiBally S e i e
You may wee any of the given constants and equations where nesded:
W
= —9. 8 m/s* = — Fj = pF,
g mys P e k= HEy
— o P!
W = F.Ar = Frcos@ Al = mgh =
2m
dbuiyall duauluill Cilxymall
PHY.6.203.002 o
.......................................................................... &
b
|
|}
L}
m 4() v
:
L ]
-------------------------------------------------------------------------- o
.b
m 50
N o
m 2
d
m 250
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A conservative force 1s moving an object from a point A to a point B
then back from B to A over the path shown in the figure. Which of the
Mollowing is not true

l_'j.::-ﬁu.lllEu.qﬂaa.‘l_g.dlPﬂmldlﬁwlﬁﬁﬁy@m=ﬁ?ﬁ
:!EE Eq_-,_'ﬂ_“._ﬂ '_1._E1L}q Al ,S.uj'!uﬁ.?r.q.ﬂ}dll"}l'.u.ﬂjll

dbuipall drsulaill Ol Eall

PHY.6.1.02.040 o
PHY.6.203.004 <

i Work done from Ato B = Wc:rkdnncfmmﬂmﬁ.a
' A A B (e anadl il Jsdl Jalll =B \_.l“ﬁ_uiu-ulh_ld-_u-adhl’-vl,

Total work done on th:: object = ID b

Total mechanical energy is conserved for the object
s sine pueall 280 A€, 28I

?‘n‘fmk done from A to B is path independent
el e 2k VB (A e pesadl Ji J s2aall el ke
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A crane developing 8000 W raises a car of 1600 kg for 10.0
m vertically at a constant speed. How much time does it take to
?complete this task

ie il 5 10.0m 43lsal 1600kg W30S 5 s a3 55 ROOOW 5 ks Jandi dadl
hagall o8 ALY (5 jakuaall (pa 3l La 213
B

You may use any of the given constants and equations where needed:
W

= —9.8 m/s* = — Fr = uF

g f P e k= pFy
- P

W = F.Ar = Frcos@ All = mgh K =—
m

dbuipall dseulsill Syl

PHY.6.1.02.040 o
PHY.6.2.03.006 <

|
s19.6 ;
b
5 2.00
<
s 50.0
.d
s 9.80
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Modern cars are designed with airbags to reduce damage during head-on
Tcollisions. How do airbags work to reduce damage

Jaad S | a1 alabaaWh U8 puzall Jaliil 450 ga sl g2 53 5 3 Aaadl Sl )
?__}_}uhjl._u.iﬁi___m__u_u ilLv..u_,j\

dbuipall dsaulaill Gl paall

PHY.6.1.02.049 o
PHY.6.1.02.050 o©

'They increase the collision time and thus reduce the force acting on
itk - driver

Gl e 3 B3 5 g e JI5 N p ol (a3 25

bsssssssseses s s === =d

They reduce the impulse experienced by the driver during the b
.collision and thus reduce the force exerted on the driver

il e 5 il 5 il IS I 5 adlaill L8 g3l oliliy g3l adall i i

They increase the impulse cﬁﬁériencad by the driver during the | .c
. collision and thus reduce the force exerted on the driver

) e 5 el s sl JIE N 5 bl ol Gl Sl (o3 adall jlida 335

They reduce the collision time and thus reduce the force acting on the .d
driver

Sl e 5 5 gall 3l e Ji I 5 aclaill gy JliS
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A bullet enters a wooden block with a kinetic energy of K, and loses
half its velocity as it goes out of the block. What is the kinetic energy
»of the bullet when it goes out

o lgn s s e Lo s il 381 Ky 4y 48y dppdia A1 ) dalia ) Ja5
¢ alisl) LHLF._,_P..uLan_,ﬂLE_,ﬂIIJLHLJALu _W|

AN Ay B Zially D (e i Lap
You may use any of the given constants and equations where needed:
W
=—9.8 2 e Fi = uF
a m/s P = k= pky
sl Pl P
¥ = F.Ar = Frcosf AU = mgh = —
Zm
dbyyall Lusslaill Ol el
PHY.6.203.002 o
......................................................................... -
1
) -a
K,/4 :
i
1
[
i
......................................................................... o
.b
Kq/2
N -
2K,
.d
4K,
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A runner in the Olympic games with a mass of 80kg has a kinetic energy
Tof 4000J. What is the momentum of the runner

Pelaall 38 jall 408 jliia b Lo (4000]) 48 joll 458l (80kg) 43S duad y¥1 IV d clae

A Ay B Sy Sl e g e el
You may use any of the given constants and equations where needed:
g=—-9.8m/s* P:E Fp = pFy
i 5
— _F:
W = F.Ar = Frcos@ Al = mgh e
Zm
W, = ~mgh K+U=Kg+ U, AP =] = Fit
dbuijall dausill Sl phall
PHY 6. 102049 o
PHY 6102050 o
------------------------------------------------------ -
[
-
kg.m/s 800 ;
L)
:
-------------------------------------------------------------------------- ol
b
kg.m/s 25
.C
kg.m/s 50
d
kg.m/s 320
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A block with a mass of 2kg slides at a constant velocity 0.5m/s on a
horizontal frictionless surface as shown in the figure. When the block
collides with the spring it comes to rest and the spring is compressed to
the maximum wvalue. If the spring constant 1s 200N/m, what 1s the

Tmaximum compression (Ax) in the spring

o LS Sy ae .__,.ié.'l rhs e (0.5m/s 405 4z kg s jlade ALK 3 35
el (A 5 3l Tk o 5 i T Ll Gy 3 AT anfaia Ladie (Sl 8 s pe
f(Ax) & e Wl Llazil sl jlaia Lad ¢ 200N/m & o 0 Sl 813 dad

dbuijell dsaulsill il el

PHY.6.2.03.002 o

' a
x102%m 5.0 i
b
x10°m 5.0
M =
m 5.0
d
m 0.5
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The tigure shows a frictionless incline that makes a 20° angle with the
horizontal. A car is pulled for 500 m at a constant velocity up the
incline. If the car's potential energy changes by 2000 kJ, what is

?the mass of the car

it oY) aa (20°) Ag) ) pheay SISEaYT Jaga sania (3o T JSE) el
A & jas 138 el Jlef yai 40 ey (500m) ddlsa 8 jlane
5 | A A Ls o(2000k]) i 8 ] s gl

‘—‘E’
dbuall dsddsill il yall

PHY.6.1.02.040 ©
PHY.6.2.03.004 ©

ke 1193

- - .b
ke 408.4

ke 2170 '

A" o N\ - d
ke 4000
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Which of the following expressions represents the law of conservation of
? total momentum

YaolSll 45 jall duaS Laia ) 408 ,._.}r__'];r_”JJ,'..MH;I
dbuipall dusulaill Jilpsall

PHY.6.1.02.040 o
PHY.6.2.03.006

: ;2
; Fry + Fpz = Py + Pz [
b
Ffl_PfE =P — P
<
Fry + Pz = Fyy + Fia
.d

PfIKPf3=P“KPu
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A 500g ball is thrown vertically up from Earth surface with an initial
Tkinetic energy of 147 J. What is the maximum height the ball reaches

la )ik dgilaip) 4 ja ke el ) U sae i 41 el (e 500g LS 5 S s
¢ 5 S0 ) Joats g iS )1 il Lo (147])

AN Ryl B Sibdally D Cpe il Lap el
TYou may use any of the given constants and equations where needed:
g=—-9.8m/s P=§ Fip=pFy
¥ = F.Ar = Frcos@ AlF = mgh Fe
2m
dbuiall daudaill il pall
PHY.6.203.004 o
PHY.6.203.005 ©
S S S S S ————————————— -
u
|
L}
m 30 :
'
u
------------------------------------------------------------------------- o
.b
m 2.9
oL
m 73.5
.d
m 37.5
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A car of mass 1B00kg starts from rest and reaches a speed
of 30m/s in 10s. What is the average power that the car's engine during
?this time period

 (108) & (30m/s) M Lo s Joss 0 5Sadl) (3 43S i 125 (1800kg) L6383 s
1i'-1|il-_" i.-ll_'1:'| ;J]___Ludul :ﬂJ:.._AEJJiL.wJE.d _3;!'; La

AN Rty 1 ihally SABD e g oy Sl
You may use any of the given constants and equations where needed:
g=—-98m/s* F:E Fi = pFy
At
W = F.Ar = Frcos@ AU =mgh K=—
Zm
dhpall duaulaill Sl yhall
PHY.6.203.006 o
B o e e -|-
; i.a
i kW 81 ;
' ;
e p Bl R omCRITNER  CLooion  SEEREnIeman N e F oa Ko W, MR H
b
kW 5.4
K S
kW 8
d
kW 2T
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Ali is pushing a wooden box of weight 78 N for 2.00 m on a rough floor
using a horizontal force of 120 N. If the total work done on the box

is 190 J, what is he coefficient of kinetic friction between the box and
?the floor

aﬁmmm_)lujn(ZHm}Hw{TEN)MJJMEJMUJLEJ
Jalaa Lai (1900 )3 il e J gauall JSI Jild) SIS 130 (120N) Ls lsie 458l
vumJ‘hithAuallegs_FliﬂﬁaT‘

Fr

ibnpall dgaulsill Ol yiall

PHY.6.1.02.040 o
PHY.6.203.004 o

""""""""""""""""""""""""""""""""""""""" ia
0.64 5
b
0.32
0.45 ‘
&I > ..d
1.00
Lo WlyLis>A1 (9L 9 Jod=dl Jjis
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?Which of the following is a correct unit of Power

d i 2 ill' i-l
ﬂihﬂiuga.uah_gqﬁ;_fm?|

RN Ry ially A e iy Ly
You may use any of the given constants and equations where needed:
g=—9.8m/s? i Fi = pFy
At
— Pa
W = F. A = Frcos@ All = mgh K=—
Zm
W, = —mgh K+U=Kyt U, AP = | = Fat
dbuipall duaulnill il jdall
PHY 6203002 o
-------------------------------------------------------------------------- '*
1
1 .a
2:.3 :
Kg.m/s '
-
1
-------------------------------------------------------------------------- o
.b
Kg.m’.s®
M =
Kg.m’/s?
.d
Kg/m?.s?
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A roller coaster starts from rest at a height of 10 m above point A as
shown in the figure. If work done by frictional forces is negligible,
Twhat is the speed of the roller coaster at point A

A e 5o LS A ALl 34 10m i) e (Sl Ga S jall 7 il e oy
A adaaill ‘_'1.:._J].Ei.||'| ;.f-__‘j.u:l]-ﬁli Mags SSILY] _.;'jﬂluz,ﬁ.::_".]ll Jaaall 1S 13 s

dbujjall Gaudaill Gl yaall

PHY.6.1.02.040 o
PHY.6.2.03.004 <

'a
m/s 14 ;
b
m/s 9.9
JC
m/s 17
L \J .d
m/s 20
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An astronaut of mass 90kg in his suit, is at rest in space. He fires a
thruster that expels 45x 10 kg of hot gas at 800m/s. What is the speed
?of the astronaut after firing the thruster

#Mpﬂmj:uﬂlh‘ﬁujﬂaﬂm‘:d_u_m *Lu_tagnkg‘uLS;La.ns.u'!J

ang eliadll 2 de s A L BO0M/s de s Jaludl Jladl e 45x10° Ekg Callad
¢ slall (33

abnyall Gaslsill Ol yhall

PHY 6.1.02.039 o
PHY 6.1.02.050 o

.

'a
m/s (0.4 ;

.b
m/s 5.1

L
m/s 2.5

.d
m/s 0.2
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A billiard ball moving with velocity of 2.5m/s collides elastically with
another billiard ball of the same mass at rest. What is the velocity of the
?second ball after collision

L A (g gl 53l 5 S e U pe Ladkia p3la 2. 5mfs e o S ja g3 i3 S
Talabaial) ey 4l 5 81 Ao pule ALED i

A Ry B Silblally Sl (o iy Ly
You may use any of the given constants and equations where needed:
g=—98m/s* F=E Fip = pFy
it
=z .= e N F:

dbnuipall Guaddaill lsyial

PHY.6.1.02.039 o
PHY.6.1.02.050 o

- |

mfs 2.5
""""""""""""""""""""""""""""""""""""""""" ik

m/s 2.5- '

JE

m/s 1.25
"\ \ o .d

m/s 1.25-
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A ball with a mass of 0.2kg collides with a wall with a speed

of 10m/s at a right angle and rebounds with the same speed in the
opposite direction. If the contact time between the ball and the wall
M1s 0.1s, what is the force exerted on the ball by the wall

Jlaka pudly 43c .ﬁj; 10m/s 4= Mﬁfgjiﬁjmﬂ_zkgmrﬂaﬁfﬂnﬂ*
Boall jlama Lad o 0. 1s Jlaadl g3 SI s eS8l e LS 13 Slall a'a_-i'!i"lr__,jl:._,-...d'l

Sl e jlaall g fin
SR gty ATl AP e gy \p e
You may wse any of the given constants and equations where needed:
g = —9.8m/s? F=E Fi = pFy
At
abiyall dseulsill Ciloyral
PHY 6.1.02.049 o
PHY.6.1.02.050 o
«a
N 40
.b
N 20
.
N 10
i -
' Zero ;

____________________________________________________________________________
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Jlgadl yais 3292
dloiSo il 8)9.all

In a physics lab, a student uses a frictionless wheeled cart in an
investigation. He loads the cart in each time with a block of different
mass and applies the same force F to the cart to move it for the same
distance d. In which of the following trials the cart will move faster at
?the end of distance d

i ,.A.Ir- Lidad A SISiaY] dagae Clany 3._-_}'_ s aasia cely _J,'EJI pisa 8
LeSa padl g pall o F o gall il Gala 5 dalias 4S5 ja S (A & jall Jpaay L)
S Tsd Ales 00 6130 30 2y 8 ol T Lne Bl e 5 b @ T i

Trial (1) * — 1) Ugiad

dbhuiall dsaulsill Sl yhall

PHY.6.2.03.002 o

Y\ A <

(Tl (1 :

5 (1) U3
(Trial (2 b
(2) U flaall

(3) (Trial (3 .«
L)

In all three trials it will move with the same velocity .d
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dloiSo il 8)9.all

The figure shows the velocity-time graph for two carts A and B that
7collided elastically. Which of the following statements is true

_!;i -..#.-: Ladl s Uil s’ B sA ..__;.:.] __].u_;.- _34.:_ _’1.-.....-| Ju_u.ull AL L =
v'“é:l.‘h.q.ﬂ‘n:ﬂ—”!——”_)n—_l.ul ks

9 (m/s)
1.6
n Lﬂ‘\ #
dbuipall daddaill Sz jsall

PHY.6.1.02.039 o
PHY.6.1.02.050 <

The two carts were moving in opposite directions before |.b
collision
palaill 08 (aulaie palad] (b OIS oS (s pall CilS

Cart B stopped after collision |
adbaill 3y B & jall i 43

Cart A moved in the opposite direction aﬁu.,r collision .d
ln..‘lliu.....=|.'|.|'| L) L}Sn.‘l.aﬂ nL‘h!'- i A M}ﬂ x_ls_;.'..'u

L OolyLuasal 3L o Jokall Jiii
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